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Multiplication   

Multiply horizontally :

Name - _ _ _ _ _ _ _ _                                         Start time - _ _ : _ _            End time - _ _ : _ _ 

6 x 902 = 

9 x 955 = 

8 x 903 = 

7 x 876 = 

3 x 826 = 

2 x 825 = 

4 x 992 = 

5 x 964 = 

2 x 814 = 

6 x 158 = 

9 x 171 = 

7 x 389 = 

8 x 146 = 

4 x 153 = 

3 x 154 = 

5 x 242 = 

2 x 169 = 

9 x 211 = 

3 x 334 = 

7 x 81 = 

7 x 234 = 

9 x 500 = 

Ray went on a trip, if he travelled 124 km daily for 3 days. Find the 

total distance travelled by ray in this trip ?
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